N ATOoN D'VIIY

7t =1 axnenn 'wiw npo NX nwn 4.1 720

TNINYNN '"WNIYW DIDO DX DY'N 4.2 "an
Z° +9420i =0

z=(14cos(20°) +i-sin(20°))* wn 437N

Jman Moy 7 IXxn 4.4 720N

2=(cos(90°) +1-sin(90°) +cos(26°) +1-sin(26°))’

MmN "'oYy z NN IK¥N 4.5 7'an
z|=1, z+z=1.6

-a,=-4+3i -l a =3+4i M N0 MT01 4.6 72N

-p=a.a, -..-a. ‘DIIYNRIN DQARD 5 7W 079000 DX IK¥N

a,=3i ,a =3.4 JMN'0TIAMT 4.7 72N

.a_ TIN IN¥N

M1 DX ;) 22NNN0NI9N DX I¥n 4.8 720N

R 0 1-4i
Z +1_i°z+ T

0 . (2)" +(z,) =643

XIWUAN DX NN9 - 4.9 7aan
z-|z| +15-8i =0



